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Q. P. Code: 24393
(3 Hours) [Total Marks; 80]
M.Hx 1] LEUEE“I:IFI.'LGI:I. 1is Carmpulzary.
2| arswer any THREE guestions from O.2 to 0.6
3| Flaures to the right indicate full marks.
1. 2] Evaluate the Lzplace transform of JLsins Al
I 4 find directional dervative of 9= 4 £t ot b i dirsetiop el 21 —0 = 2% I5]
ey Find etbogomisl trafertaries of the Tamily of curees s o8 12— = [5]
' r G Obtain Ball range sine series for S{x)=x, i, [5]

G2 &l Mo+ v= e {eeosd )y — vsin2y) then find analytiz function f{z )by Milne Thamsan Metbod [G

1 6]

1s",

o] Find the Fousdas sarfes for Fix)-Y-=x", 3<x

Gl Fisd the Lapdace tmnstarm ol the tollowing

[ Lfeyl +5int | il erh 2 J .

Lpe . N
03 ay Whing Convalgton theorem, find Ineerse Laplaoe of - ; 16|
()
& % L b
bi Proes that & Cxd= 1 7 . S (3 :Ii.'A.IE-I| ] 6
e Ve x -
_— e Find Fourier sares for F{vl =iz —x)" i 0<x<2r . Henoe dediue that
; I I |
i S ; =l i o lﬂ]
L P &
L4 a) Find the Fouriar transfarm of £t =e 1 i

) Show thatthe function f{xi=1, fix)i= v are withoscsa on (—1, 11 and detzrm ne the
vaastant A & B sothat functanz. fixh=1+x+ Bv' is orthosnnal to hoth F4x) and
.l'-_l () omtiat oteial I."~]

;) Find Bilinaar travsfars shan wided mage, e peeings 2=1, . L ontothe poinzs - we § O-thencs

Tape Lok 2
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QP Code: 243

fird the imaga of |z| < | on tew plang find invariant paints of thic transfmj‘rnat;m-;f |
N AT e :
L 5 a) Salve-using Laplace Tra nsn:rm“!l—'__ + ?’:;' ~y=te given ) =4and {0y =2. [E]
e 'y

byFind Comiplex farm of the Fourier series for f{x)}=v¢" in —7 < ¥ < 4 where 3"is 3

i =
tedal coestant, Fence deduce thl - = ——J'E [B)
asinhar 2wt va
£l Verify Green's Theorern inthe plane for f[_"._:._-"' ~Be el Ay — by where C is
i . - = e
the boundary of the régins defined by ¢« % and 3=~/ [&]
6.8 Provethat J (xh=0 _(&1—27 (x) 1 4 (x) (6]
b} Find the magaf the ling x-y¢=1 by transformatian k= & (8]
ci Evaliile J-| F .ol where F=4xf -2 .? =% | where S5 the Faginn bogndad by
v+ =4, 2= 1), z= 3 using Gauss divergence theorem. 4]
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Extef %m Lff./dbﬂ:,s/ﬂp._f / 08|05 4

). P. Code: 24887

Ly 3

Mix. Marks:H0 : Duration: 3hrs

KI3:
L1} Chesstion Mol is compulsoms.
(2} Asewer any three from remaining guestions,
1) Fipures to the mehl indicare Tl marks.
41 Assume suitsble data i required,

1 Attempt any four

2 Give the equation for the current i semiconducter diode. With the help of this eyustion 5
explain in defail the V-1 characteristios ot a semiconducter diade.

b Explain effect of temperanire on JFE T and decive equation for ero temperaiure-drift 2
¢ Furthe ¢circuil shown in fig | determine small stgmal hybeld pt paramctees of trunsistor. 3
i
-.§' 7K
I T F L 1T __|
it B« oo
Ty Y
|
-l ;
: Fig.|
d  Design clipper circuil Tor the outpat shown in faure 2 Assugse diods i ideal
".-'DJT ;' ]
"I
*+ Wiax B i L) ';
'|'|' i :.1', - 1 II _u
e N
- | -:|=-_
., ™
- Ymaz '.:-
= ".'l-l:
Fig 2 Fig.d '

-
o

For the FET shown in Agered the drain curient SQUHLIOn i3 fhy = '-}('1 +3'5':““*')| mA, :
Exateitniine [, 1'-"._;3,-;, ".-'|:._=.Q_ Y 1'.-'|1_'_|=]E1|.", Ru'l.ﬂﬂl, [3= L2ELY, Wae-0% apd

Foa=]h{LE
e

fagelofi

DU AL A A G TRE S A e B2 b =T




l4 ]ISJ 20t®

P B 1) ¢55h5/ E¥TC I A-p U

Q._l_’.-qu_c_le 1.136[”

{ 3 Hours) | Total marks-: 80
Mote 2 - 1) Question number 1 is compulsory.
2} Attzmpt any three questions from the n:m;q:nmg ﬁve.

questions.
i) Figwres to the right indicate full marks,

.1 4l Find the Laplace transform of cos ¢ cos 2¢ cos 31, 03
b} Construct an enalytic function whose real part is ¥ cos y. 03
€} Find the directional derivative of @ = x* + v+ + 2% at paim 03
A(1,—2,1) in the direction of AR where 85 (2, 6, —1).
'I:I g d)  Expand f(x) = lx- %% 0<x <1 inahalfrange sine-serigs. 03
I Q2 a) Find the angle between the normals to the surface xy = 2%t the 06
peadnls

1,4, 2).(=3,—3; 33

b1 Find the Fourier series for 06
IO Lo B e Sl |
flx) = C, D=x<n
¢l Find the inverse Laplace transform of 08
{1 45+ 12
55+ He 4 12
(it} 244
log -
Vs -+ b
al  Slale true or false with proper justification “There docs not cxlsts an i3
analytic funclion whaose real part is x? - Ixty— ¥l
b} r, ia
ek = (3 = R ] '
Prove that  Jgq(x) o= {1 I:Ub x
th Expand Flx) = 4 < x® inthe imervat (0, 2). 0
O Use Ganss's Drvergence theorem to evatluate -”s N+ F uf where (6
F=dxi+3y— 2zl and §is the surfiuce hounded Ly
y=0y=0z=0am 2x+ 2y + 2= 4.

TURN OVER
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Q.P. Code 13607 -

e

B}y Prove that _ G 3
S22 folxydx = 27 fy(x) — 2x% - Jy (x). %

b Salve using Laplace trunsform ':—J:-!- 3y Tt AL with 08 ;.
¥0) = 1

.5 &) [ind Taplace transtorm of (1 + 2t — 384 AtV (0~ 2) where -~ U8
N
HLE~T) {1, b
by Provethar 2 " (x) = L) — falx). : 0

¢l Obtein complex foem of Fourier Serics tor f{x) = ™ in (=, u) (b
where a is ol an integer. Hence deduce that when ir iz 8 constant |
ather than an inleger

_ gin i et 5 i T
sinax = ——— .} = i
i A {n? = n?)
.6 a)  Using Green's theorem evaluate (Ko

f [E.'I2 - le} dx — {9 = ax)dy
i AR
where iz the cirele 2% 1+ v2 = g,

by Express the function Lty
i G |
fiaks 1[! for x| =1

as a Fourier Integral.

Under the wansfurmation w = {1 + i)z + {2 — i), tind the region 1
in the w —plane inta which the rectengular region bounded by
x=0y=0x=1y =2 inthe z —plane is mapped.
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i.—,\{ * Emf_/ r_r_r/r: RCas / EDC- ’_F/ litasT1y

s Q.P. Code; 25072
T e
Time: 3 Hours < "Marks: 8()
MB.: (1) Cruestion Mo, | is compulsory. g
2} Sulve any three questicns from the remaining g =5
{3} Figures to the right indicate full marks i Eoran, 2
(4} Azsume suilable duls iF necessary and m::nllnﬂ I:hr: SAIMC um:twcr n.hm:t
.1 Allempl any 5 questions : t{ﬂj
@) Prove that for a JFET the gate-sourse bias [or: FHED tr:rr: phlanue drtﬂ ol deifi ;
eurrent is at || 0.5 volts, e s
b Explain the hvbrid pi model of BIT,
¢) Explain Zener as vollaps n:guJaTcnr- :
' r d) Consider a BIT Jias ]'JHIELml:T.I:t'E 1T =5008 e ot T = 1 mmbA, B J'[I{I witd <
= 0.3pF. Caleulate handyidh of f ahd caprcitace Ca SERRIT
&) Draw and explain 5maﬂ-mgua] musdel ofa dmu:l_n:._
H 3 e ! . - T : ¥
i Wiy should Re b az lacge as Possible in the desigh of € amplifier?

{2 a}

by

| .

32 a

b

Q4w

T

Design a -'nltuén':; divider bias network |;|3i11g'ﬂ_ _511]:1[_1[;.-'?:[ 24 ¥, atransistor  [1H
with B=110 and an operating point of g = 4 maA and Ve = 8V, Assiune
¥ o ;

g

e
Explain the fubrication steps of passive elements, [5]

What ure the important JECT purameters and define it from characteristics. (3]

Deesign the resisiors of o single stage C8 amplifier for andio frequensy with [ L0]
BFWL with /. < (3 42 0.eldA and f2 |- 12,
D CSAFET amplifier with self hias circuit and derive the expression 110

tor vollege gain input impedance and autput impedance

Prave small signul hybeid pasameter equivalent cireuit for CE wmplificrand 10

defing the same. What are the advantages of b parameters?

bk For the circuit shown below in Fig.db, the tansistor parameters are Ve [10]

Lot =0T N[ = 200and V=

i} Derive the expression for lower cut-ofT Trequency {ar time comslant) dus

nput coupling capacitor,
Deteemine lower cat-off trequeacy and midband voltage pain.

TURN OVER
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- v,
i, _ﬁ;‘s ;
=

Q.P. Cﬂd& 2 §QJZ

T '\-':

Loy I .-:':_ FEGEE AR -.L S
¥
‘éiﬂlﬁ K
o1k 4i4F
r"'-"‘-‘n"'.-—H—
Ebj-' Win g:":'r:; l-ﬂ' J-k.'
R “Fig.dh,

.5 i) Design an L section LO filter with T'u,EI waye rectifier 1o meet. the followine  [10]
specifications: The DC -ilutpiut vnj.tage ¥oo =2z Videliver .l =[x 3+ 20}
mA 10 the resistive load and d\: rﬂquh'ed rlpph: faclor i4 (.04,

b} Far the circuit shawn below in Fig.5h, ﬂle-t:jansmi_.urm:amea:;s are Vae [10]
emy - 7V, [ = T00ahd Vs, = o0, Determine Z,; 7., and Ay

GoOLL \OMF ks

YWin ?k‘% - __|L . 1k

.06 Short sotes an: (Attempt any four) [20]
a) BIT high frequency equivalent cireuil
b} Types of resistors and capacitors
¢} Stebility factors of variows binsing techniques of BIT
d)  Difteeent types of filters
&) LComparisen of BIT CE and JFET CS amplifter

TURN OVE
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Q. P. Code: 25072
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golaafwe foo | Bo e il | & dD & or frs | we [ o yw Erwp T = Bt 1 o
o T T =T i ; 7 i Eell v 001 WL
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N.B.

0.1

0.2

Q.3

04

{).5

6

gt | D €] CHBEGS f22-5-18

(0
(2
(1)
(4

(a)
(h)
(e}
()

()
()

(a)
(b)
(a)
(B
{a)
{1

{a)
(b)

£

- ! W

-

Q. P.Code: 35474

(3 Hours) o7 Total Marks: 80
Question MNeo. 1 1s Compulsary
Out of remaining questions, allempt any | tlrree g
Assume sutlable data if required LA . -ﬂ-'*'f " .
Figures to the right indicate full marks = . -~ o0l 8
State and prave De Morgan’s Theorems - & © SO e [5]
Compare Combinational and sequeritial Togié Clrenifts . = [5]
Define Propagation delay, Power Digsipation, Fun Ol Fﬁﬂ i for TI'L family : |5]
Explaio Programmabic Logie Arrav |5]
Prove that WAMND and T"-.IDR Gﬂ:{'ca AI% Uy I:'IEﬁ] (rates [11]
Mesiym & two-bit dipital n_nmpumu:r -anid Jmplcmnur using (rares | £0]
Simplity the logical cxpmsmnns- using Boolean L::.w-a arul implérment using Cates [10]
V= A+ CI(A LN+ CHB =D, Ya=(AB =C)ABY D)
Implement the piven {unction using §:1 Multtple:l-:er [10]
FiA, BC D)= Tm0. 1.2, 3,4, 5 6, 8,9, 10, 12, 13.15)
Explain the working »f imiversal shift repister (10
Write-a WHDL progran: to designa 4;1 Mux [10]
Minimize the following expression wang Cume MoClusky Technigoe [10]
FiARCTN=Fm(l, 3, 7.9 18,11, 13, I5)
Converl JE FF to DEF and T TF 10 D TF [14]
Design a 3-bit usynchronous counter vsing JK FF. Thraw neat timing diagram | 11
Write a note on CIMLIDs |11

dhwtFr T RINT
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y o | B 513
F.w.'rf:,"J—_'-'Hr caeas | ps P f e Q. P. Code : 39546

i3 Hours) 80 Marls

MB: {1}  Question No. 1 is compuliary,

0.1

Q2

.3

0.4

Q.6

2} Saolve any three questions from the remaining five
(3} Figuresto the right indicate [ull marks
(4)  Assume suitable data Enw:smyﬁd mentioh the same in anawer sheet.

Ay (4.B.C)= Z"’“[ﬂﬂ'-iﬂ with ils fnnh table and express If in SOP amd 241

POS form :

b} Compare TTL and CMOS Logic families

¢y Perform the following cperution using 2's compliment
1) {ﬂln = {1 5]||-:-
if) (30}, — (24},

Lomment on results of (i) and (i1)

d} Compare SEAM with DEAM

a) Implement following Boolean function using #:1 multiplexer [10]
FABC D)= IBD + ACD +BCD + AT D
b} Design 3 bit Binary to Gray code Canverler [10]

a} What are shifi regisvers? How are they classified? Explain working of any  [10]

one type of shafl register.

b1 Write VHDL code for 3 bit up counter. [10]
a) Explain Master stave 1K Flip flop [5]
by, Convert T flip flop te D flip Mop. [5]
c) Minirtize the following expression using Quine MeClusky Technique [10]

F{4,8,C,0)= ml137.910111345)

&} Staie and prove Demorsan’s theorem [5]
b) b} Convert (332.125); into decitnal, binary and hexadecimal, [5]
¢) Explain Full Adder cirenit using PLA having three inputs, & product terms  [10]
and two outputs.

&) Prove that NANDY and WOR pates are universal gates [10]

b} Draw and explain 3 bit asynchronous binary counter using positive edge  [10]
triggered TK flip flop. Draw the waveforms.

EHEFERERERERES R LI R ASHR

W RALSOA T IATFI AR & 1l & S3857778015
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i
0.P.Code: 21762
{3 Hours) [Total Marks: 80]
N.B.: (1) (Questici: No. 1 is compulsory.
121 Artempt any three guestions from remaining questions.

{31 Assume suitable data it necessary.

775 - List name of hridges for RLC measurement with proper classification, LG

0 [ Find trensfer function of given network. 04

T‘ L—II'EI e

i) () R, Eof b
y et ) b

IE‘
L (O (4 Wha ts cold junclion compensation 10 thérmoeouphes? o
Ll ) Draw a block dizpram of generalized data acquisition system and explam its 04
A componsnts,
G fe) Check whether given sy stem iz stable 4
56+ 3554 254 + 953 + 552+ 125+ 20 =0
X1 {a) Explain Kelvin's double bridge and it's:ﬂg:ip]ic:a'._ﬂnn in Tow resistince measurement. (5
. . 05
(b} Obthin C[s)S Rs] @lsiﬁﬁblﬂﬂk'diﬂgmr: reduction technigue L
- - L) ! - 'I;_'. )
—-| "4 = '.
151 - . — ]
s, Q- Lo -5
i . e P
) e I W |
| e |
g
L = - = _rTI ]_II_ - - ] . N .
: -'4}3 1# For l_|,1:|.:il.3- ghin-lalj.-‘éitgm haying it
. = 7 . H =
: . . Gis) =
. S5+ 5}{5 +3}
chtch Tqm Jocns and comment oo stability.
54 "me i:la:lc.plut for following transfer function is 10
fet 00
LR AT -
o R 6YE) = e
' ~“And predict stability,

TURN OVER
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O.P.Code: 11

Od fal What is muoltiplesing "oompare FERB with THM

ih) I bz svstem has
= iy
S5+ DS+ DS+ 8)

Vsing Boutl crilenion Nnd range of B for stability.

GLSLED

{ch Explain working of strain gavzs aodd its application in load measureme st

33 {a) Find CisiRis) using Mazon™s gam fommla
e
f -\"'\
! o 7 ey L& f-_-‘-\)‘ b 4 : \
a”{vf"’-’* i - 0 | fz |
- L} A | _.' -I_.
5 H\. ___,-"
LY S,
b 1.& <H|
e P g: Jliiﬂ
ib) Lrraw and discuss Hay bridge and its application in measurement af inductance

a0 [l Explain Jaodliee telemetry and-discuss about any one [andline telomerry sysmcm.

h i a4
() For o svstem with transfer flonction
3 SR04+

with unit sfep input

Find damping ratio, damped frequency of oscillations-and time for peak overshool

e Compare (emperalire lrmduc:rﬁ.'lhmiﬁtnrﬁ and thermacouples on the basis of
primziple, characferistios, ranges aod applicalions:

{d) Explain how the stabilite of system is analyzed psing Nyquist crilerie

AGEI AR RCFDFIASC RSO0 TE04C
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Q. P. Code: 24590

Times: 5 howares lotal Marks: 80

ML

I Question Moo 1 s Compulsory

2) Ot of remalning questions, attempt any thees
11 Assurme suitable data it t'-EL'|'|li.I'Ed

4) Figures Lo the right indicate full marks

I (AT Drraw equivalent cireuit for given magnetically conplad gircuit.

5] L=0g [ ]

T

T -

; ; ! ¥ dv
In the given network of Fig, swilch s opened al |~ 0, Sulve for v and P 0,

vl

104 ET:) -J'?é g 1 KLk —=1HF

(C}  Provathat AD— BC = | for Transmiss paranisters,

(LB} [}!:Enr_ the folowing parameter of transmission '|I'I"|:|.:_5:
1) Input impedance
i) Charateritics l-m]:iedanc:
i) VEWR A
v Refleciion CosiMicient
v] Transmission Coeflicient

2 (A) Tathe nelwork shown ini¥ig,, switch is changed from pasition 1 ta position 2 a1 =10, steady

s : . ' d d2
5 condition hevine reached before switching. Find the values of i, d_: and FEL arr= 0+

. |l| i
oo L -
1 & %::ﬂ —_:] 1

Fage1of3

]

AGFIDOIFICECFRFIASCBYDCA0FH 1 BB

i

M5
13

L4



4

(31 For the nepwork shown i Fle, fad 4 and ¥ -paramaters,

Iy 2t

—"'u'\"u'v—l—

1 L ,
v, 10 ol g

ATETLE

15

4
i
2

AL Find cureents in the three meshes of petwork shown in Fig,

e

il

o L
;]==.'|Jz

Q. P. Code: 24590

1) &

]

(B} The parameters of a transmission lines wre B = 6500km, 1=1.6mb%km, O

=0 L Fkm. Find
i) Charsclerstic Iimpedancc
i} Propagation Constant
iii) Attcniation Constant
iv) Phase Consgant at 1 kHz

(A} Dretermine whether folbowing functions are positive reul
gl + It 4 el £ 42

1

e Py JORSTR|
i g(a+3)[a+ 3)
b {54 115+ 4)

(B Oibtein Theve ninequivalent nevwork of Fig,

16 43 ES 152

A - - |——wy

54 [::} 1-,§I.‘-L£

Page 2 of 3

AGFADRFFOCEICFOFIAICEODC 440F G 1 81

[EE =

-

L

2.25 mmbodkm,




). P. Code: 24590

5 4A)  Find Y-parameters (o the network shewn in Tig, 4l
128 |-
IL
I 1 1] Is
AW T
i ' . t
¥, ¥ T ¥
iB) Realics the following functions in Foster 1 and Caver 1form 10
2i5c 0 st + 9
g = o .
ELEETA)
6 1A) A fransmizsion line hus o charaeteristics impedance of S0 obom o lv:ermil'mn: inaload A=25+ L1
130 ohm. Use smith chart and Find WEWHR and Relleciion coelficiznt ar the lead.
4]

I the network of Figodwitchis in position ‘a®for along time. At L~ Oswatch s moved from a w

(L) | :
b. Find v, (1} Assurmie that the inifial enrrent in 2 H induclir s 22eo
f o g b
e} 3 . - +
X _
e 1 " R
in ? e B

B LT T T T T FE

"
-

Fage 3 of 3
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| ‘E'T“’LTQ-/‘:TE-T—WEI |cacas / C.TPJ} 2l
N QP Code : 24948

|3 Hours| | Total Marks ; -80|
N.B: 1. Question No, | is compulsory,

2. Attempt any three from the remaining questions.
| i1 (a) Find the voltage drop across 50 resistor in the circuit given below, 5

| 5 ol |
B l
ﬂ]@ | n. 2JL

|

® ) Forthe graph given below obtain the incidence matrix and find the number of &
possible trecs,

L] |

L. - v, iy B Lo Vo

() Cheek whether the following polynmmials are Hurwitz 5
(i) P8)=8'+T78"+65 -215+8
(i) P(s)=58+28*+ 8§

{a) Find the Thevenin's equivalent across AR and find the power dissipated ina 2500 load. 19
e DI

20V

— =13 [TURN OVER
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2 QF Code: 24948

(b} Find h parameters for the following Two-port network,

1
T
AJSL Hl

{c) In the network shown below the switch is closed at { = 0. Assuming all initial
conditions to be zero, find &, difdr, d*i/de for1 =07,

i C}..FL. ZlL
)gc":‘ | %
!
OvT AlE) S

{a) Find the tie-set angd f~outset mateix for the otiented praph shoswn below. i

¥ S .
_ﬁT ..... _T__H‘" = TI-'J'JT'J'
H"‘_gf i 7 _—-—- Llﬂk‘_g)

(k). Realize the following function in Foster T and Foster - [T Torms. I
: S+1)(5-4
s - (5210(5=4
S{s+2)

(@) A switch is in position A for a long time and then thrown to posiion Bal L=10. 5
Fid L} for = 0. AL what value of °t the current i(t) will bevome hall ol current at
-0

I TURN OVER
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3 OF Code : 24945
(b} For the following network find the driving point impedance funetion. 5
I i | A\
MMM
S ]
2() At F%'JJ‘-'
o=

fe) Find the condition for symmetry and reciprocity for a two porl network psing any 5
one parameter,

{a) Obtain the ABCD parameters of the following network, If two such networks are 10
cascaded find the overall ABCD parameter.

e _?'_.;l'l'-

P _E
I e T
HE S iy -
v, 50 a0 W

{b) Check whether the following function If pesitive real or not. S
= -, 5 _-
Fig)= S-.— ks -]}
§T195 114
(e} Find the oriented graph if the incidence matrix of the network is 4s given below, 5
S B A I U 0
{ D & =L & D
A=
' | S N SN | KA ¢ R ! ]
o N o -1 0 1 4
L {a) Find the mesh currents if the coupling factor k- 046 1]
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(h} Find i,(t} using Laplace transform,
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Instructions — 1) Questions 1is Compulsory

&l

{:,nﬁ

i) Out of remaining guestions altempl any three guestions -
hi) Assume suilable additional data 0 m.lquu{,LhﬂdE:
iviFigures in the bracket to the right hand E:E'rE ;n'ﬂELar.e:full ks

v

a) Compare analog instrument with digitﬂl_ﬁmt.rmﬁégnt. '

b
c)
d}

L
)
a)

b}
i)
)

aj
b

al
by

Explain sclection critenia for transducers. "%
Which 15 [istest ADC and why? i
Dyezcribe the various tyvpes nfswea"ps use::i -in CR{J

Explain working of | ".FEIITr und d::['nu ]h apg‘_ﬂuahun in - IIH'-EI'.IL;-I":-:I:I‘I':[L[
rmessuramenl . ;

Creaw neat block dlagram"m !’.}uzu.l* Bmma nm‘]iuhmpnz :..

(Give the comparison hem'een EFLmJ Trace: a.m:l Dual Pemm E}milﬁm’npe

Draw  and E}ipl.a!ﬂ Ha} ,bnv:lge 'u{d lts appl!mrlnu fm measurement of
inductances. :

Explain pnnl;lpic: of operation and Hr-aJ_r]-u.ug_ of dual slope [WM,

Define |'|n.’:n.=.r::r und energy il explam uuﬂkmg ol a single ph:-]:-:L Bnergy meler,
Draw and E&-ﬁpEEurl. capatitive transducer for level mEsuTEmEn|

Draw the bleck diagram of generalised measuremenl u_'i.'ﬂi:rn and explain its
colmponent

Lraw andexplain Wheatstone bridge and drive expression for measurement of

resistanco.
Explam dual slope ADC with neat block diapram and comment on its speed

Define O fuctor and explain working of 2 Q) meter for O} factor measurement.
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